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0000000 OO0 1#8226. A. The whole world is faced with
the problem of the increasing population. #8226. C. Genetics in one
of the main factors to intelligence. #8226. Source Sentence: In
addition to genetics, they say, intelligence depends on an adequate
diet, a good home environment, parental attention, and education

[1 0 2#8226. A. We should pity all such unhappy people. #8226. C.
If such unhappy people recognize the bad effects of the habit on
themselves they may get rid of it. #8226. Which of the following is
not true according to the passage? #8226. B. At the present level of
research spending, it is difficult to make any significant progress in
the provision of energy from the sun. #8226. D. The total yearly
spending of the EEC on solar energy research amounted to almost 6
million dollars. I [ 4 #8226. A. HyOdroponics is still too
complicated and expensive for practical use. #8226. C.
HyO0droponics has created wonders in agriculture. #8226. Source
Sentence: HyOdroponics was once a complicated and expensive
business, now it is well out of the experimental stage. [1 [1 5 #8226.
A. electronic media can extend one’ s contact with the world #8226.
C. all the events occurring on the university campus at Berkeley were
given national media coverage &#8226. D. video coverage of the
1989 San Francisco earthgquake gave the viewers the impression of
totaldisaster 1 0 D OO0 O OOO0OOO 100Test 0 O OO OO
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